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o, kPa 0 20 40 60 80 100 120 140 160 180

C, 2 1.70 | 1.46 | 1.29 | 1.16 | 1.05 | 0.97 | 0.89 | 0.83 | 0.78

o. kPa| 200 220 240 260 280 300 350 400 450 500

C, 0.72 | 0.69 | 0.65 | 0.60 | 0.58 | 0.55 | 0.49 | 0.44 | 0.42 | 0.40

Cy 10.99410.991|0.986|0.976 | 0.965| 0.958 | 0.945 | 0.935 | 0.920 | 0.902
d, m 11 12 13 14 15 16 17 18 19 20
C, [0.884|0.866|0.844|0.822|0.794|0.741|0.691 | 0.647 | 0.631 | 0.612

2.2.4

2.2.4 2.2.1

2.2.4




2561 -

2.2.4 a
C. d, m «
d,<10 0
C.<0.6
10< d,<20 173
d,<10 1/3
0.6<C.<0.8
10< d,<20 2/3
d,<10 2/3
0.8<C,<1.0
10< d <20 1
C—
N, Nc
2.2.5
3.1
3.1.1
3.1.2 3.1.2
3.1.3
Ey=CC,K,G, 3.1.3
C— 1.0.4
C, C,=0.25
K, 1.0.7
G — kN
E\g kN
3.1.4 3.1.4 4.3.2
4.3.4
3.1.5 i
Eiy = CiC, Ky ¢iyGiy 3.1.5
Ey—— i kKN




2562 -

C— 1.0.4
C— c,=0.25
Ky 1.0.7
3.1.2
7 8 9 9
H>?20 H>15 H>?20
> 12 H>6 H>12
H,>3 H,>2 H, >3
1:3
H > 20 H>15 H>?20
H<20 =>1.10
=>1.05
H>?20 =1.15
1 H m
2 H, m
3.1.4
7 8 9 9
H>4
K, =>1.1
Ko >1.2
H m
G.,— i kN

iw

Jr—— 3.1.5




2563 -

315 Sbiw
i
m
Z.Ol
H<12 i =1 i =1 i ey B
B b4 i w
kg
Y 7 hd
H>12 G=1+" diy=1 L »
‘/}iw_ + H ‘lbiw_
H m
2 H,, i m
3.1.6
7 8 9
1°30' 3° 6°
2°30’ 5 1
3.1.6
() 04 3.1.6 0
L4 5.+0
cosf
4.2.10-1 Cz 0.25
3.2
3.2.1
3.2.2 3.2.2
3.2.2 m
8 9
15 10
6 3




2564 -

3.2.3
JTJ013—86

3.2.4

3.2.5

3.2.5

:3

10m

10m

3.2.5

9

1:0.6~1:1.5

1:0.75~1:1.5

1:0.1~1:0.5

1:0.2~1:0.6

1:0.1~

1:0.1~

3.2.6

3.2.7

3m

3.2.8

20%
3.2.9

4.1
4.1.1

150m

JTJ013—286



2565 -

9 1
8
4.2.3
9
Sm
30m
4.2.2-1
Ey,= CiC,KuBi7:iXii G
Eihp i
C; 1.0.4
C— 4.2.4
Ky,—— 1.0.7
4.2.3
Vi
S X6,
,yi: i=0

kN

30m

4.2.2



2566 -

X — i
1- X,
H/B>5  Xy=X;+— ' H, H/B<5
173
XiiZXf‘I- ﬁl I—Xf
Xy
Hi_ m
H_
m
B— m 4.2.2-2
Gi_ kN
Gi:123 kN
’Xl.o-!,
Go —_—
G ’—
G |-Xu x
Gl“l
G ¥
TE T
4.2.2-2 B
4.2.2-1
4.2.3 B

~ 4.2.3



2567 -

2.25 Y
2.0 F
RN p=2.25% (Dpy oo
/! Ty T p=z,zsx(_0w7ti)...,
10 |:| VRS ,g=2,m(%)...
I|I
h
||l
|
ol )
“azde 2 3 [ 5 7(s)
4.3.3 B
1
: oo > 250kPa
' oo <250kPa
o9 =130kPa
' oo < 130kPa
! I
i 20m I
il I\
4.2.4 c, 4.4
4.2.4 c.
H m
H<10 10<H <20 20<H < 30
0.30 0.33 0.35
0.20 0.25 0.30
0.25 0.30 0.35
0.35
0.35




2568 -

4.2.5

4.2.6

4.2.5
! 1.0 '
® -
X/}
.
&
— Xs
4.2.5
Ey, = CiC, KB G,
Eyy— kN
G, kN
G, = Gt G+ 76,
Gy
kN
Go— kN
GP
kN kN
7
_ 2 2
77—016 Xl +2X[% + Xfo% + Xf% + 1
H/2
Kil
Ei = TLCiCthBi Gap
Pt itp
Eihs_ i
kN
K i kN/m

itp

4.2.5

4.2.6-1



2569 -

K“ - 18 1p
P Kis+ Kip
Kis 1 kN/m
Hh GdAr
Kis_igl >t
Gy Gy = 1200kN/m?>
A — m?2
Dit— m
n
K]-p— i kN/m
B
Go— kN
ng i
i
Eyn, = CiC, K37 X5 G 4.2.6-2
Ehpz CiCZKhABith 42.6—3
Gi-123 kN
Gy kN
th: G(,p+1r)(;p
4.2.6-2 4.2.6-3
4.2.6-1
4.2.6-1
Ehsp: CiCZ KhBiG Sp—z‘uidRi 4.2.6-4
Ehsp_
kN
Bi—
SpaRi— kN

pa— 2i4=0.02



2570 -

kN/m

R—— i
3—s5 4.2.6
4.2.7
4.2.2
4.2.8 6, <30°
Gus Gy Gy Gasy Cary Giee Gary
K K.
Kis Kry
4.2.6
Gry Gap Gy Gan— kN
Gy Gry Gav— kN
Ky, Ky, Ks, Koy— kN/m
K, K'iy Ky, K’y K3, K's4 kN/m
4.2.9
Epw=CiC, K, Gy,
E,, kN
G — kN
1 4.2.9 80%
2
4.2.9 Gus
3
4.2.10
Eea:%szKA 1+3C,Cok Kyt
E o
0.4H
y— kN/m?
H—— m
Ky
2
Ka= 1i0:ij4> 2
¢_ o

C— C,=0.35

kN

R=20B B

4.2.9

4.2.10-1



2571 -

10m
10m 10m
Eea=%yH2 K,+2CC,K, 4.2.10-2
C— C,=0.30
9
4.2.10-2
4.2.11
b
3 <2.0
E, =0.15 1—ﬁ C.K,&,7,b*h 4.2.11-1
2.0<hﬁg3.1
E,=0.075C K ,&,7,b’h 4.2.11-2
b
h >3.1
E,=0.24C;K,7,bh? 4.2.11-3
E, h/2 kN
E— &h= &n
=0.8 £,=0.9~1.0 £,=0.8
yw_ kN/m3
b— h/2 m
b=a
b=D
h— m
4.2.12
Ehb: CiKthp—Eudem 4.2.12-1
E, kN
Gy kN
S R pe—— kN
SpgR<0.65C Ky, G,
Md ra=0.02

1 =0.10 14=0.15



2572 -

Rye—
2.
E zb
GSp
E hzb™
G S})
4.3.13
kN m kN
kN m kN
kN m kN
C—
C—
K,
f—
Yy
P4 "—
by dn

G ma_

Ezl): CiKhG

sp

kN

Ehzb = CiCzKBi GSp

kN

kN

S\*a = Ci Cz KhBy\’¢\' Gma
kN

Sha = Ci Cz KhBYh‘Ph Gma
kN m

Sza = Ci Cz KhB‘“PZ Gma
1.0.4
C,=0.35
1.0.7
4.2.3

kN
4.2.12-2
kN
4.2.12-3
kN

1/4
4.2.13-1

1/4
4.2.13-2

1/4
4.2.13-3

4.2.13
4.2.13
kN/m



2573 -

4.2.13 Vv o 7

FNy-
9
(@)}
3

8 10
7 0.70 0.67 0.63 0.58 0.53 0.5
T 0.46 0.35 0.27 0.21 0.17 0.12
4.2.14 37
4.2.15
1. 1/4 kN
m kN kN
X, . X, .
Siu= CC, KBy, =5 Cma 4.2.15.1
p—
4.2.3
Vi
Yi= A/ M;
r Gy
/\ = Xl i
i=1 g
PR n G
M= —"Xi;
i=1 g
Xl i l —O n
+1 i1 i=1~n
Gil 2 kN
Gy= G, + G
G,— kN
G, i kN
In G 4.2.13
2. 1/4
kN m kN kN
DA4¢D oy - D
5., = Oy, 0 % 04.2.15-2
eha = E E 8 % E V2N -
o, O Hing




2574 -

Sis1i = CC, KB L Xy - Xy 4.2.15 -3
W]
R yi
On = | KoR* + Ky 4.2.15 - 4
y m
¥Ys— m
sind,

ys: 1_ #,0 R

b
o
81 11 2 m
822
m
R— m
I— m*
A— m?
K, = ¢g + sindgcosd,
K, = ¢¢ + sinPycosp, — 251;:2%
0
K, K, 5-5
o 1/s
3. Ey, kN
Ey, = CiC,K, lpByl Xl 1 4.2.15-5
Kyy—— i kN/m
kN m kN Sty
L. 1/4 KN
kN kKN Sy, Sow 4.2.13-1 4.2.13-2
2. qthp kN/m
gy = CiC, KLY 1 Xy Gy 4.2.15-6
Vo Yo =1.3
Gy kN/m
X,
Xop=3.846 1-7 —31-Xo,01- L



2575 -

Yy— m
H— m
kN m kN Sonp
4.2.15
Taap
i

=

4.2.16
1. 1/4 kN
m kN kN m
Sim = CiC,KyB1, G a 4.2.16 - 1
P~
4.2.15
2. E;, kN
Ey,, = CiC,K\BGy 4.2.16 - 2
G 4.2.15
kN m kN Sy
1. 1/4 kN
m kN kN m Ssa 4.2.13-3
2. q22p kN m
kN Samp 4.2.15 2
4.2.17 S
1.
Se = Sthat Sena 2+ Soat Sua 27 4.2.17 - 1
2.

S, = Suy+ Suy 2 4.2.17 -2

P


Absent Image
File: 1


2576 -

4.3

85

4.3.1

4.3.2

D —

4.3.2-1

Ri
Sq P26, 97204 < Ry v

R. R,

Sd YPZGJ Yqz Q d = YI) R d »Y_O ya

¥=0.67

Y,=1.4

¥,=0.95

MPa
MPa

4.2.17 -3

4.2.17 -4

4.3.2 -1

4.3.2 -2
yg=1.2 Ve

Ve = 1.0
7q
7y
Y, =0.68

JTJ022—

4.3.2 -3



2577 -

JTJ025—86
50% 2.2.1
4.3.3
X
St=—< = X, 4.3.3 -1
1794
St—— m
tgy— tg¥y=1.0
X m
Byt
Xe:nGdAr 4.3.3-2
Ehzb kN 4.2.12-3
n
Gq— G4 = 1200kN/m?
A —— m?
ey = Eyy 4.3.3-3
Mt 0.15
0.10
R kN
4.3.4 e
e/
e < 2.4p 4.3.4
o' m
4.3.4
4.3.4
e
oo =300kPa
<2.0p
200kPa< oy < 300kPa
<l1.50
100kPa< 6y <200kPa <1.2p
oo < 100kPa
<1.0p




2578 -

=

K 1.2

4.4.1

4.4.2
1/5~1/8

4.4.3

a cm

[——
60cm 4.4.3-2

' 4.4.3-1

4.4.4

4.4.4-2

4.4.6

a=50+L

4.4.3-1

4.4.3



Absent Image
File: 1

Absent Image
File: 1

Absent Image
File: 1


2579 -

Il

4.4.7

4.4.8

8

4.4.9

4.4.

4.4.

4.4.

4.4.

4.4.

4.4.

4.4.

8

4.4.4-2

3m

Tm

200m


Absent Image
File: 1


2580 -

4.4.17

4.4.18

50cm
4.4.19

4.4.20

4.4 21

4.4.22

4.4.23

4.4.24

4.4.25

m 9
4.4.26

4.4.27

2:1~3:1
4.4.19
1/6 50cm
1 3
10cm
Osmin 03%
= A, =0.3% 4.4.19
Osmin = Skb = . 4 .
cm
cm
sz
135°
U
JTJ022—85
25
10m
9 I 1

8mm

20



2581 -

.30

4.34

5.1

5.2.1

1/20

25

89

89

I~

I I

MmNy

5.2.2

JTJ061—85




2582 -

5.2.2
5.2.2

1.8

2.0

2.5

1.5

1.8

5.2.3

5.3
5.3.1

5.3.2

3.

1.4

4.3.4

2.2.1

Ey = CiC, Ky, Gy
kN
1.0.4
0.2
1.0.7
kN
3.1.6

3.

5.3.2

5.2.3




2583 -

5.3.2
9
10
H<10m 10
H>10m
H
5.3.3
7 I 8 9
I ~N 25m 9 I~
15m
5.3.4 5.3.4
5.3.5 8 9
5.3.6 9
5.3.4
1 I
Il
I
I ~1I 8

10

10




2584 -

5.3.7

GO
Tl - 21 12 1-1
14
S
kN
G+ 16, Gi=G,= X+
G, = i]OGiX%i
4.2.2 4.2.5 4.2.6
m/kN
m/s?
3
I. = H
[
3 I x
0
m?
m
m
X m*



2585 -
1
]l =ax’+ by + ¢ a=hy/hy a; = hy/h;
‘ I3
X - I < L -E'.‘
© I -
1 0.45 0.6 0.6 1 1-a  d° 1 ai—aj+1
[ = - - 4 = —_ — =
‘ I R .- n T LT 0
2
wz _ thKl + Kl + K2 Gsp - GlpKl + Kl + K2 ng - 4GlpGSpK1K2 172
S 26,6,
2 -1
T, = 2 )
@
w—— 1/s
K— kN/m
K,— kN/m
T — S
4.2.6
| Jaie 3L LTS U
K
Ta..—s—nxﬂunmmn
LA AR EETGR
RNEHZH
K
lsgtesad
2

TIS




2586 -

1.
G
- 2 Yma 12
T, = ¢S Elg 3
E— kN/m?
[— m*
g m/s>
G kN/m
S— m
Er—
- 47 + 30, |,
B 47 -0,
1 +0.01650, ,
§r = 27 3857 910, 1 0,
Cr 3
3 &7
1/4 1/5 1/6 1/7 1/8
0.196 0.184 0.176 0.172 0.169
0.117 0.112 0.109 0.107 0.106
0, rad
2.
174 ~1/8 3
¢r=0.288
1.
Siha Oi=1 i Eihp w 1/8
— & 4 _ 1

wi = Ml 172




2587 -

Kr—

S & Xil 2
i=1 g
Ky = Kz_iz‘o Xia - Xip 2+ _%"OKip Xy ?
T, = =% 4-2
w7
kN/m
4.2.15
SZVa SZha
qth pr 1/s
EI 172
w3, = 15.42(—5’—y i H4) 4-3
ptp
m
kN/m?
m2
kN/m?
In4
m/s?
Ty~
4-4
Siza Eizp Wi, 1/s
& 172
w;, = Mt 4 -5
i kN/m
- Gi _ 1 1
1 M[—g—gG,,+4Gp
kN
kN
S
Tiz = 2_Tt 4 - 6
Wiy,



2588 -

Saup
5-1 P
/L m n g
0.0000 0.0000 0.09296
1/3 1/4 0.0131 0.26484 0.02790
0.03018 0.37555 0.34228
0.0000 0.0000 0.08044
1/4 1/4 0.01145 0.26103 0.02302
0.0262 0.40563 0.3022
0.0000 0.0000 0.06926
1/5 1/4 0.00993 0.25791 0.01905
0.02261 0.42915 0.26417
0.0000 0.0000 0.0602
1/6 1/4 0.00868 0.25556 0.01604
0.01967 0.44573 0.23201
0.0000 0.0000 0.05296
1/7 1/4 0.00766 0.25377 0.01377
0.01731 0.45728 0.20556
0.0000 0.0000 0.04715
1/8 1/4 0.00684 0.25235 0.01201
0.0154 0.46542 0.18386
0.0000 0.0000 0.04242
1/9 1/4 0.00616 0.25117 0.01061
0.01384 0.47124 0.16591
0.0000 0.0000 0.03851
1/10 1/4 0.0056 0.25016 0.00947
0.01255 0.47547 0.15091
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5-2 P
f/L m n q
0.0000 0.0000 0.09918
1/3 1/4 0.01345 0.04712 0 05262
0.01884 0.17265 0.13063
0.0000 0.0000 0.10180
1/4 1/4 0.01412 0.04561 0.05162
0.02013 0.15344 0.14902
0.0000 0.0000 0.10380
1/5 1/4 0.01480 0.04542 0.05087
0.02121 0.13482 0.16347
0.0000 0.0000 0.10519
1/6 1/4 0.01522 0.04631 0.05030
0.02194 0.11885 0.17373
0.0000 0.0000 0.10616
1/7 1/4 0.01552 0.04788 0.04989
0.02245 0.10562 0.18096
0.0000 0.0000 0.10685
1/8 1/4 0.01573 0.04986 0.04959
0.02281 0.09469 0.18614
0.0000 0.0000 0.10735
1/9 1/4 0.01589 0.05205 0.04937
0.02307 0.08562 0.18993
0.0000 0.0000 0.10772
1/10 1/4 0.01601 0.05433 0.04920
0.02327 0.07803 0.19277
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0.3270 0.0000 0.0000
1/3 1/4 0.00784 0.27190 0.00847
0.08765 0.33333 0.01345
0.03346 0.0000 0.0000
1/4 1/4 0.00649 0.27190 0.00773
0.08650 0.33333 0.01067
0.03443 0.0000 0.0000
1/5 1/4 0.00505 0.27190 0.00706
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0.03546 0.0000 0.0000
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0.03647 0.0000 0.0000
1/7 1/4 0.00242 0.27190 0.00601
0.08255 0.33333 0.00499
0.03740 0.0000 0.0000
1/8 1/4 0 00129 0.21790 0.00559
0.08319 0.33333 0.00393
0.03825 0.0000 0.0000
1/9 1/4 0.00031 0.27190 0.00522
0.08036 0.33333 0.00312
0.03900 0.0000 0.0000
1710 1/4 0.00055 0.27190 0.00489
0.07946 0.33333 0.00251
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f/L m q t
0.02917 0.0000 0.0000
1/3 174 0.00456 0.25000 0.00814
0.09869 0.50000 0.01376
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1/4 174 0.00320 0.2500 0.00748
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1/10 174 0.00394 0.25000 0.00479
0.09032 0.50000 0.00257




5-5 K, K,
f/L 1/3 174 1/5 1/6 1/7 1/8 179 1/10
K, 1.5310 1.4073 1.2604 1.1235 1.0052 0.9052 6.8210 0.7498
K, 0.0819 0.0269 0.0104 0.0046 0.0023 0.0012 0.0007 0.0004
f/L—
m— L?
t— L?
g— L
R——
},L
" 6 B
po=0.6p +0.4u, 6
M 2
-4
l _ e—O.G C"I—BOO .10 Gm > 3001(N/H12
170 G, < 300kN/m’
G,/ kN/m?
Gm - = n
S h;
i=1
n
hi o Vi— i m kN $2/m* m/
s
6-0-016 -5 “107 h'> 5m
= 1 h<5m
h— m
20m 20m
20m
T k

r,=0.7-0.5n



2593 -

£E=0.9+0.1p

7 80kPa 8 100kPa 9 120kPa



2594 -






